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Measuring mass (2)

Discover

o @) What is the mass of the bag of carrots?

b) What s the mass of the pumpkin?
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a) These scales count in 200s.

The arrow points to between | kg 200 g and I kg 400 g.

kg 3009 ' Remember, we
l always write kg,
—_— the bigger unit,
1kg200 g 1kg 400 g before g, the

smaller unit.

Half-way between 200 and 400 is 300, so the bag of
carrots has a mass of 1 kg 300 g.

b)

7kg-6kg=1lkg Iwill try to work out the
intervals by counting in

10s, 20s or 100s. I can

use a number line to
help me!

+100 +100 +100 +100 +100 +100 +100 +100

The difference between the marked
amounts is | kg. | kg = 1,000 g.

There are 10 intervals between
6kgand 7 kg.

1,000 divided by 10 is 100.
Each interval = 100 g.
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The pumpkin has a mass of 6 kg 800 g.
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Think together

° Write the mass of these vegetables in kilograms and grams.

a Use the scales to find the mass of each bag.

a) 9

Try to work out
each interval first
by counting on.

a) The onions have a mass  b) The peas have a mass
of(Jka(Je of(Ja.

a @) What is the mass of the bag of potatoes?

b)

/ 21g

%

{ Ifound the value for each interval \
"~ and then worked out the mldpalnt

b) What do you notice about the scales? L
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